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E–3666 

 B. Sc. (Part II) EXAMINATION, 2021 

(New Course) 

CHEMISTRY 

Paper Second  

(Organic Chemistry) 

Time : Three Hours ]  [ Maximum Marks : 33 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u djuk 

vfuok;Z gSA  

 Attempt all the five questions. One question from each 

Unit is compulsory.  

bdkbZ&1 

(UNIT—1) 

1- ¼v½ oqV~Zt vfHkfØ;k }kjk dkSu&lk ,Ydsu ugha cu ldrk \ 1 

(i) C2H6 

(ii) CH4 

(iii) C3H8 

(iv) C6H14 
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Which of the following alkane cannot be prepared by 

Wurtz reaction ? 

(i) C2H6 

(ii) CH4 

(iii) C3H8 

(iv) C6H14 

¼c½ 1N
S ,oa 2N

S  vfHkfØ;k dks mfpr mnkgj.k lfgr Li”V 

dhft,A  3 

Explain 1N
S and 2N

S  reaction with suitable example. 

¼l½ fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 3 

(i) xSesDlsu 

(ii) Mh- Mh- Vh- 

Write short notes on the following : 

(i) Gammexene 

(ii) D. D. T. 

vFkok 

(Or) 

¼v½ nzo veksfu;k esa lksfM;e dh mifLFkfr esa Dyksjkscsathu ds 

Dyksjhu dk izfrLFkkiu fdl fØ;kfof/k }kjk gksrk gS \ 1 

(i) 1N
S  

(ii) 2N
S   

(iii) E
1
 

(iv) csatkbu 
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 P. T. O. 

The mechanism of substitution of chlorine from 

chlorobenzene in presence of sodium in liquid 

Ammonia is : 

(i) 1N
S  

(ii) 2N
S   

(iii) E
1
 

(iv) Benzyne 

¼c½ foyksiu 1E  o 2E  vfHkfØ;kvksa dks mnkgj.k lfgr le>kb,A  

     3 

Explain elimination 1E  and 2E  reactions with 

example. 

¼l½ fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ fyf[k, % 3 

(i) foukby gSykbM esa gSykbM dh de lfØ;rk 

(ii) ls.Mes;j vfHkfØ;k 

(iii) oqV~Zt&fQfVx vfHkfØ;k 

Write short notes on any two of the following : 

(i) Less reactivity of halide in vinyl halide  

(ii) Sandmeyer’s reaction 

(iii) Wurtz-Fittig reaction 

bdkbZ&2 

(UNIT—2) 

2- ¼v½ fuEufyf[kr esa ls dkSu&lk ;kSfxd vk;ksMksQkeZ vfHkfØ;k ugha 

nsrk \      1 

(i) CH3–OH 
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(ii) C2H5–OH 

(iii) CH3–CHO 

(iv) CH3–CO–CH3 

Which of the following compounds does not give 

Iodoform reaction ? 

(i) CH3–OH 

(ii) C2H5–OH 

(iii) CH3–CHO 

(iv) CH3–CO–CH3 

¼c½ fuEufyf[kr vfHkfØ;kvksa dks le>kb, ¼dksbZ nks½ % 3 

(i) yhcjeku ukbVªkslks vfHkfØ;k 

(ii) foDVj&es;j fof/k }kjk 1°, 2°, 3° ,YdksgkWy esa foHksn 

(iii) fiusdkWy&fiusdkWyksu iqufoZU;kl 

Explain the following reaction (any two) : 

(i) Liebermann’s nitroso reaction 

(ii) Difference among 1°, 2°, 3° alcohols by Victor- 

Meyer method. 

(iii) Pinacol-Pinacolone rearrangement  

¼l½ fXyljkWy dh fuEufyf[kr ;kSfxdksa ds lkFk jklk;fud vfHkfØ;k  

nhft, %  3  

(i) gkbMªksvk;ksfMd vEy 

(ii) FkSfyd ,sugkbMªkbM 

(iii) iksVSf’k;e gkbMªkstu lYQsV 4KHSO  
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Write chemical reaction of glycerol with the following 

compounds : 

(i) Hydroiodic acid 

(ii) Pthalic anhydride 

(iii) Potassium Hydrogen Sulphate (KHSO4) 

vFkok 

(Or) 

¼v½ fuEufyf[kr esa ls fdlds vkWDlhdj.k ls dhVksu curs gSa \ 1 

(i) izkFkfed ,sYdksgkWy 

(ii) f}rh;d ,sYdksgkWy 

(iii) rr̀h;d ,sYdksgkWy 

(iv) mi;qZDr esa ls dksbZ ugha 

Which of the following compounds gives Ketone on 

oxidation ? 

(i) Primary Alochol 

(ii) Secondary Alcohol 

(iii) Tertiary Alcohol 

(iv) None of the above 

¼c½ fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 3 

(i) fQukWy dk vEyh; LoHkko 

(ii) Y;qdkl ijh{k.k }kjk 1°, 2°, 3° ,sYdksgkWy esa foHksn 

Write short notes on the following : 

(i) Acidic nature of phenol 

(ii) Differentiation of 1°, 2°, 3° alcohols by Lucas test  
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¼l½ fuEufyf[kr vfHkfØ;kvksa dks iw.kZ dhft, % 3 

(i) C6H5OH + CHCI3 
NaOH

60 C
  

(ii) 
2

2

CH OH

|

CH OH

  4HIO

O
  

(iii) C2H5OH 2 4conc. H SO
 

Complete the following reactions : 

(i) C6H5OH + CHCI3 
NaOH

60 C
  

(ii) 
2

2

CH OH

|

CH OH

  4HIO

O
  

(iii) C2H5OH 2 4conc. H SO
 

bdkbZ&3 

(UNIT—3) 

3- ¼v½ fuEufyf[kr vfHkfØ;kvksa dks iw.kZ dhft, % 3 

(i) 4Pd/BaSO
3 2CH COCl + H   

(ii) HCHO + 4NH3   

(iii) 2CH3CHO 2 5 3
Al OC H

  

Complete the following equations : 

(i) 4Pd/BaSO
3 2CH COCl + H   

(ii) HCHO + 4NH3   

(iii) 2CH3CHO 2 5 3
Al OC H
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¼c½ fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 4 

(i) fjQkWesZV~Ldh vfHkfØ;k 

(ii) ifdZu vfHkfØ;k 

Write short notes on the following : 

(i) Reformatsky reaction 

(ii) Perkin’s reaction 

vFkok 

(Or) 

¼v½ fuEufyf[kr vfHkfØ;kvksa dks iw.kZ dhft, % 3 

(i) 

3
HCl

3

CH

C O

CH

  

 

(ii)                + CHCl3 + NaOH   

 

(iii) 2CH3CHO 
OH

 

Complete the following reactions : 

(i) 

3
dry HCl

3

CH

C O

CH

  

 

(ii)                + CHCl3 + NaOH   

 

(iii) 2CH3CHO 
OH
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¼c½ fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 4 

(i) fofVx vfHkfØ;k 

(ii) uksosusty vfHkfØ;k 

Write short notes on the following : 

(i) Wittig reaction 

(ii) Knoevenagel reaction 

bdkbZ&4 

(UNIT—4) 

4- ¼v½ fuEufyf[kr vfHkfØ;kvksa dks iw.kZ dhft, % 3 

(i) R-CONH2 + Br2 + 4KOH  

(ii) RCOO Ag + Br2 4CCI

Reflux
  

(iii) NH2CO NH2 
150 C

   

Complete the following reactions : 

(i) R-CONH2 + Br2 + 4KOH  

(ii) RCOO Ag + Br2 4CCI

Reflux
  

(iii) NH2CO NH2 
150 C

 

¼c½ fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 3 

(i) , ,  vkSj  gkbMªkWDlh vEyksa ij Å”ek dk izHkko 

(ii) Dystu la?kuu 

Write short notes on the following : 

(i) Effect of heat on , ,  and  hydroxy acids 

(ii) Claisen condensation 
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vFkok 

(Or) 

¼v½ fuEufyf[kr vfHkfØ;kvksa dks iw.kZ dhft, % 3 

(i) R-COOH + HN3 2 4H SO

50 55 C
  

(ii) 2

3

(i) SOCl

(ii) NaN
R-COOH X

 

                             

 Y 2H O
 Z 

(iii) 6 5

O
||

R-CO-R' + C H O O HC   

Complete the following reactions : 

(i) R-COOH + HN3 
2 4Conc. H SO

50 55 C
  

(ii) 2

3

(i) SOCl

(ii) NaN
R-COOH X

 

                                           Y 2H O
 Z 

(iii) 6 5

O
||

R-CO-R' + C H O O HC  

¼c½ fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 3 

(i) gsy&oksYgkMZ&tsfyULdh vfHkfØ;k 

(ii) ;wfj;k dh lajpuk 

Write short notes on the following : 

(i) Hell-Volhard-Zelinsky  

(ii) Structure of Urea 
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bdkbZ&5 

(UNIT—5) 

5- ¼v½ fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 3 

(i) ,sehuks vEy ds feJ.k ds iF̀kDdj.k dh fgalcxZ fof/k 

(ii) dkfcZy&,sehu vfHkfØ;k 

Write short notes on the following : 

(i) Hinsberg method of separation of Amino acids 

(ii) Carbyl-Amine reaction 

¼c½ fuEufyf[kr vfHkfØ;kvksa dks iw.kZ dhft, % 3 

(i) 6 5 6 5 2C H CHO C H NH   

(ii) C6H5N2Cl + 2H 2SnCl NaOH
  

(iii) 
NaOH

6 5 2 6 6C H N Cl C H   

Complete the following reactions : 

(i) 6 5 6 5 2C H CHO C H NH   

(ii) C6H5N2Cl + 2H 2SnCl NaOH
  

(iii) 
NaOH

6 5 2 6 6C H N Cl C H  

vFkok 

(Or) 

¼v½ fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 3 

(i) eLVMZ vkW;y vfHkfØ;k 

(ii) gkWQeSu fof/k }kjk izkFkfed] f}rh;d o rr̀h;d ,sehuksa 

dk iF̀kDdj.k 



 [ 11 ] E–3666 

 P. T. O. 

Write short notes on the following : 

(i) Mustard oil reaction 

(ii) Separation of primary, secondary and tertiary 

amines by Hoffman method 

¼c½ fuEufyf[kr vfHkfØ;kvksa dks iw.kZ dhft, % 3 

 

(i)                       +  
33HNO

 
2 4

50 55 C

H SO
  

(ii) C6H5N2Cl + H2O 2 4H SO
  

(iii) 
0 5 C

6 5 2 2C H NH NaNO HCl   

Complete the following equations : 

 

(i)                       +  
33HNO

fuming
 

2 4

50 55 C

H SO fuming
  

(ii) C6H5N2Cl + H2O 2 4H SO
  

(iii) 
0 5 C

6 5 2 2C H NH NaNO HCl
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